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BOTANY

1. Observe the lists and find out the correct match
&1808 s H03D0N, H0@oS F'BoYPS Mfowod

List—1 erder —| List - 1I wde — I
A) Vrikshayurveda ) Agriculture and weeds
S)gros0dgso SgSa%0S0 Sod0%w Feod) Sy e
B) de Historia plantarum II) Medicinal plants
& TRPOAS> Yyolrd Soodo I en
C) Herbals [11) Medicinal plants
ALY Soodd &) e
D) Atharvana Veda IV) Medicinal plants
ogdim Ido Soodo e
E) Krishi Parasaram V) External and internal characters of
plants
g)a dor¥do S0 o erdrg 308050 ©odd)oT
oforen
I 1 || I | VARRY/ [ v \Y
1) A E B D C 2) C B E A D
3) E A C D B Hp C A B E

2. Study of plants, which lived in geological past ana’became extinct and now available as
fossils is called
JoES 57 00e® EJoDBN0B, VY)W VOEOLY, FTBETrI0s® ©HoT IV O BFFHHOIT )

DS00trdd ?
1) Phytogeography ST HOE FugSo 2) Palaeobotany QoHYE TR
3) Palynology PoleploTe2H = ARV ON 4) Exobiology NISMTISE

3.  Plantin which both stem and leaf are modified as a result of xerophytic adaptation
Q&0 éa%éoeéa S ob K Do rodSn S08a%0 HE e Bodode Srdoddo BodS

J0&) 0

1) Citrus & Opuntia DD 0B DI

2) Opuntia & Asparagus QDO $o0A%0 BT HD

3) Opuntia & Parkinsonia QDY So0A%0 B SIS
4) Cissus & Bougainvillaea VYD Hodc%0 FTRSDY

4. Root like leaves and leaf like roots are present respectively in
38 508 H@ e 508050 H|Go 508 IS EOAS 3nE) e SHdm

1) Taeniophyllum, Tapa BARTrDD, Erar
2) Vanda, Taeniophyllum T, BIBrPO
3) Salvinia, Trapa FORDBS>, L

4) Rhizophora, Taeniophyllum DE° PO, BARTDO



5.
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Following plants possess axillary inflorescences

808 @ IngH oo BSY DAY g WrHS

A) Leucas orgsR B) Hibiscus TOHYS
C) Dolichos @O D) Acalypha O OP
E) Gloriosa A odBry F) Solanum oSS0
1)OnlyinB&C B & Cos® Smgdb

2)OnlyinB, C,&D B, C, & Dod® sr@a

3) ExceptinA&D A & D o 355 0adS AS*
4)InAB,C,D,E,F A /B,C D E, &5°

Cross pollination contrivances observed in a flower of Primula are
©S0ger af HAYos* KBV HomHo HoHd) vlbroIed

[) Herkogamy 64HA II) Dichogamy D)5~ 08 HEc
[1) Diheterostyly asdSdod IV) Triheterostyly BdHded

1) Only Il Il S

2) Only 11&1lI H& N S

3)Only I & IV | &IV e $m@o

4)Only 1, 11 &1 L& oo SeEd

Find the incorrect statement from the following

808 TQS* HBRBOIB 5 STpgdndo K28 owoS0

1) In embryosac of angiosperms central cell furctions as mother cell for endosperm
e5)8De DoUE TS To(S8e0 oS T8 LI B0 $55:5°00t&

2) Seeds of Piper shows more endospeirin and scanty perisperm

D06 IETT0S” ©oKT)E0 I8P INEoGTD D80 B8N I0EoS S ool

3) Pollengrains of angiosperms getminate in the region of vegetative cell
ezégééea”oei‘x) JoeHde0d o0 T *PHAED [FoB0eS” Fe8EI8

4) In Casuarina pollentube enter into the embryosac through micropyle

5B’ TP DoUEF0S A8 wodmrido Sod R0

Assertion (A) : In Capsella, the seed is exalbuminous
RS’ IEIo VoS FIrES0
Reason (R) : InCapsella, the endosperm consumes nucellus
ERS’ vokdH)do vorrod: Emarodnin $70:n08
1) Both Aand R are correct. R is the correct explanation of A.
A8 R$882, Rokss A S 635 58
2) Both A and R are correct. R is not the correct explanation of A.
AS:805n R&880, Rwsss A S 835 9880 52
3) Aistrue, but R is false £y, 50 R&dy
4)Aisfalse, butRistrue A 859,50 Redy
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Findout the correct match H0Dos J*BoYo Mogowod
List-1 erde® —| List - 1I wrde — ||

A) Aleurone layer I) Embryonal axis
veugo s &6 DodD) ESw

B) Coleoptile II) Sheild shaped cotyledon
(o Bod Eouwo&dw oo esdy) dad¥o

C) Scutellum [1) Cotyledonary node
20 8e0 Hade Le00)

D) Tigellum IV) Protective covering of plumule
88go PES sr08) JEE &l

V) Outer layer of endosperm of food grains
uSs grogeds’ @oéozs')d@ I0DHO FE

A B C D A B C D
1) V v 1 I 2 V. vV I |
3) V I I 0l 49 vV I nwv
[) Plants show pneumatophores S e g0 Sroredy dhcsnodron
I) Viviparous germination is a good adaptation dda8 eokem &€ S00d S BroSsn
[I) Plants are physical xerophytes S0 oo F8E a0 I e
IV) Plants live in saline marshy places S008). 0 @Y 086 ot Edowold

Identify the correct statements with reference.to Mangrove plants
Sroirs IO How0doNS BRSNS Jgwre HBood

'Y

1)1 & llonly | $08050 I Sm@R> . 2) 1, 11 & 11l only L& S
3) 1, 11 &IV only LIN&IV S A1, 1L &IV
Findout the wrong combinations 205 F*AoYod Kdowsod
Fruit Family o which it is Speciality associated
charactiristic
Hosn &Ko) vdofnsdn pagss
A) Cypsela Asteraceae Pappus helps in friut dispersal
dyyer ulod IO JoTgas &'dysodo
B) Caryopsis Poaceae Develop from bicarpellary unilocular
ovary
g5 dHeako 30D By od¥oing FEDwRE vordaso
$08 A8)doNo
C) Pepo Cucurbitaceae Rind formed from thalamus and epicarp
0 5050)8d gy SOESTS0 HodosH HAYSSoen
68 DSYSo A8)EPD
D) Lomentum Mimosae Dorsiventral dehiscence into mericarps
S 300& 3D )R, dESoros® JodsrHeomr o EEo
B0
1)A&B 2)B&D 3)B&C 4)A&D
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12. The classification of this taxonomist is a post Darwinian calssification, which used the data
from many different branches of Botany
SPRIE S§ECw, SEFRoS'D vIE QS8 TP 08 WEBAS HSrTrEo wgrom Bohwds,
@0gn oSods 5888w
1) Bentham & Hooker @Zogeo & 086 2) Hutchinson FOLAITONY
3) Cronquist 508R 4) Rendle BodkS

13. Interconvertable semiautonomous cell organelle
uf 880 08 I&E 6578 Sr8KOAS FEE Jgodoo 18N8 Ko EerrorSn

) Plastid FE I1) Mitochondrion Jo&*sPo| @ S
[ll) Lysosome S¥SS0 IV) ER
1) lonly lsmgah 2)1& 1l 3) L& 410, N & IV

14. A scientist isolated a piece of DNA whose length is 136By using chemical knives. He
removed one complete turn form it. Find the number of nucleotides present in the remaining
piece of DNA
o B3 136A°24H, @F) DNA 02095008 a8 §rg Sotns SahdE E80505B8r0d
3 Fado. DNOS DNA Sy &* IQ) SrfBrS&en ¢otrdr 8800 $0H0S SSrara)
08 0050
1) 80 2) 102 3) 30 4) 60

15. Recombinations of linked genes during meiosis iscveto
gofogdm defad adfbiydy dFrof) adgHe JSHoBrasos sEndn

1) Disjunction RISSUERN
2) Random fusion of gametes $o&> Haten & 0eos® HodBorHo Bokow
3) Crossing over JEES 4) Cytokinesis eo((3g D

16. Observe the following lists and firia@ut the correct match
8od Dol H03D0D JOEIw. F°GoYPS Mdowod

List-1 erde —| List- 1l erde — Il
A) Bulliform cells ) Origin of lateral roots
0 Jdo Ferren FERIE & )5S0
B) Trichoblasts II) Rolling & Unrolling of lamina
& So8 e HEEYo WotnE b, dIYow
C) Pericycle 1) Guttation
50§50 Do oS50
D) Epithem tissue IV) Mechanical support
INFSo Emaresn BSro|BE e ESD

V) Origin of root hairs
Soroide w550

A B C D A B C D
1) 1 v 0 2) nm v | 0l
3) v Vv 0 4) v |l I
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Observe the following statements &80d argpgodd H08dowWod
) Itis a rooted hydrophyte with floating leaves
Boowod) JHEren o oh)idn TodS I
) Its leaf surface is coated with wax on the upper side
HE VBIBEOIN Ird PIY FE ok
[I1) Aerenchyma is absent in its roots
o Sges‘ TS0 E Ewerodn ol
IV) It perennates through a sub aerial stem
SOTBNAS srodo Tgo BY s OEomr #4080
V) The aerenchyma of the petiole is mechanically supported by astrosclereids
HE oS0’ TERSNE Ewererds IEIE7EE S)FEwrey Sro@ E§roYAon
The statements related to Nymphaea are  do®o3r8 35808 o763 Kodood
1) 1,1, 11 &V only LILIN&YV sm@d  2) 1,11, Vonly 11,V S
3) L L &IV only LILINM&IV S 4) LI IVE&E&V

The phenotypic test cross ratio of dihybrid cross, 7 : 1 : 1 : 7 indicates that
BLO0EE D85 Do¥dme® E)Fgsrd A 711 1 7m @08 ©d G HrdNed ?
1) The parental genes are dominant 2858 adogde wrdgetd)

2) The parental combinations are dominant 288 afgdoBrasre wirdsed)

3) The genes are assorted independently  =Sog:9e ean)cind S)E8) Seso

4) The genes are linked genes adogderddrer)sto

Radial thickness of cork cambium is Boar Deraglers® grdd Soodo
1) Onecell 2.8 §20 2,2 wo cells Bodky Segren

3) Three cells Sooe ko Eearend 4) Many cells ©I§ Eegren

In which of the following character Ali:aea rosea, Derris indica, Hyoscyamus niger Aspara-
gus racemosus showing similarity

Bod @ &yAgRcsosnes’ soST \FRNS>, BPS WodE, TAIOSTHT Jub, eI S
oDIrIBe0 FErSES SrHBWHD

1) Hypogynous flowers ©OUETERS Do EOA GodS

2) Union of stamens in their flowers TR PR ST THT w0 BowH)d WrHLS®

3) Polypetalous condition in corolla ©H00508 SEEE HS S N oo’

4) Axile placentation in their ovaries WOTFTrOS® WD WoTTR) DN erokotos®

Which one of the following is incorrectly matched?
20 udEr)A8 28 ?
1) Spirogyra venkataramanii — Single pyrenoid per cell
©)TRo F08LE50e8 — a8 E00&” o8 DBTToNE
2) S. mirabilis — Direct lateral conjugation ). DTDOD — HEgE T Hoo%i 80
3) S.gratiana — Both scalariform & lateral conjugations
) BT — AFBETHE 508050 FrE)g D08 Tokhddr
4) S. farlowii — Akinete production ) T — ¥BIG S
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22. Findout the correct statements regarding Rhizopus stolonifer
VST PS'A W J02080DS KBRS SrgpgeoSy MBowod

) It is a heterothallic species ©d 36 grof =8
) It is the weed of laboratory 88 PAFATe Y0,
[1) Mycelium is self compatible 3do|Fereo $go%0 BIKEES EOA aSnodS

IV) Germsporangium produces '+ and '—' spores

Dasd ¢ Herdofoes® '+ B08okn - 5o TodS &gbwédade'ooa
1)1 & llonly | & Il Sgad 2) 1, 11 & 11l only L& oo
3) 1,1 &IV only L& IV S L& IV

23. Structures which regulate spore liberation in Funaria are
Y§IVNS>S’ DD dddos ESHwgsdod dovmren
1) Paraphyses JHSoBhHen 2) Peristomialteeth %880 Soren
3) Perichaetial leaves 88¢308d @ e 4) Trabeculae AN

24. Gametophytic structures among the following are
808 TAS* JoBrAdad S¥% TodS doyEren AI?

[) Calyptra of Funaria DgNosres® O

II) Paraphyses of Pteris 888 e® dFSodoPen

[I1) Endosperm of Cycas RESS® wobd)ES0

IV) Trabeculae of Funaria DgI0sreS* Erddgd

V) Apophysis of Cycas RESS® #RHOS

VI) Neck canal cell of Pteris 800 Tod BoergEmo

DLIN&IV 21, IV&V 3) 1, Ul x VI 41,01 & VI

25. Assertion (A) : Fertilization in Cycas is sipharicgamous and zooidogamous type of oogamy
PETS® ST¥osng, 5o »rond idr btgées‘ 207N ®od JSoBdB>rKo
@otood
Reason (R) : In Cycas pollentuba acts as sperm carrier and releases male gametes
directly into archeaonia
PRETS® Horhando PBAJoBr DaTTEor HAVI08 Hodotd PR
JSoBrAdarod Idom © Heardosos®s ddode Bnod
1) Both Aand R are correct. R is the correct explanation of A.
A8 R&5852, Ross A S 635 58
2) Both A and R are correct. R is not the correct explanation of A.
AS:805n R&880, Rwsss A 835 9880 5
3) Aistrue, but R is false £y, 50 R&dy
4)Aisfalse, butRistrue A 859,50 Redy

26. Findout the correctly stated one from the following

S8oBITIS® H0BoS Srgpgdo MoBowod

1) Bacillus megatherium is used in tanning industry
TOOD MPO0K SFEHOFLS® HRTALL

2) Corynebacterium glutamicum produces esstential aminoacid glycine
§63ar§0at0 irdoso TS oF st ePTulrd) w8\ B8

3) Halobacterium is an aquatic, magnetotactic bacterium
F*S’er§0aH0 B0 ABS® BB, WAL 08 WoBOS wr§dai0

4) Ti— plasmid of Agrobacterium tumefaciens is useful as gene transfer vector
@ﬁwgaoﬁoﬁa wgmfpi’ooﬁo‘%‘\)é‘@ Ti — 6 wdog 2080 T EOT GORFPEDEIS08
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Viruses which infect prokaryotes are & IEVe0 BoE YrégdHoso vlowd
A) Bacteriophages r§ 0BT yrdFen

B) Cyanophages S FrFen

C) Zymophages B3rddoo

D) Mycophages Jos T

1) Only A A S350

2)OnlyA&B A & B e $3@

3)OnlyA&C A& Ceoo S8

4HAB,C,D A B, CD

Assertion (A) : Plasma membrane can be seen clearly in a plasmolysed cell
§'3E 855 S08°So BoBS Ewoes® JArpdcsodd SyRom KASoDowWSuy)
Reason (R) : Celloratissue shrinks when kept in hypotonic solution
w0 B0 of Emareod vo)TEd fo 5008 $odd vd Bodows
D008
1) Both Aand R are correct. R is the correct explanation of A.
A8 R85, Rokss A S 635 258
2) Both A and R are correct. R is not the correct explanation of A.
AS:8050 R85, Rwsss A S 835 9880 52
3) Aistrue, but R is false £y, 50 R&dy
4)Aisfalse, butRistrue A $59,5°0 Redy

Incorrect match regarding element & its signivicance
Saregsn 00050 T |PFS0PgELy HowagodS K05 F'80) A8?

1) Iron — constituent of cytoc'raime
P8R — DEDNS” oerndmn
2) Boron — translocaticn of sugars
5o — W) S Sareae
3) Zinc — synthesis of IAA oxidase
20§ —  |1AA 8)3& Sodde
4) Molybdenum — component in nitrate reductase & dinitrogenase
SrOPES  — JBE 8EFE, 500050 BT EIFOS® @0potESs0

These inhibitors never bind to an enzyme at locations other than the active sites
808 D JFGEen D8 ISBS> Bosrie HBToR sKod I5E oS’ ©0sSHS5H

1) Non — competitive inhibitors DA A& s e
2) Competitive inhibitors FEHT A& 5 en

3) Allosteric modulators I'QOE SrdogBLg)
4) Feed back inhibitors D& A& e
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Study the following lists and findout the correct match
Bod HPEod HB3O0D VXS F'EoYSH Kofowod

List-1 erde® —| List - 1I wde — I
A) OEC [) Primary e ~acceptor in PS I
PS Il &* dogsoo @reE 588

B) Pheophytin 1) Inhibitor of e ~flow

DT PES AoESO e A EESD
C) Ferredoxin [1) Photolysis of water

2OFT8E)S 8 57082F SIS0
D) DCMU I\V) Mobile e™, H*carrier

S0l €, H' oS Eo
V) Electron donor to NADP"
NADP" § doigS o&

A B C D A B C D
1) m \% I 2) 1o \ \%
3) 1 Vv I I 49 VvV | v I
Incorrect match among the following 808 TS HOPoKB 5 Brdd)
Reaction &g Type d&o
1)1,3-BPGA- 3-PGA —  Substrate level phosphorylatiensy sag rox >amsdas
2)G-3-P - 1,3-BPG A — Biological oxidaticn Lar§)8de Sy
3)Malate ., Pyruvate  —  Oxidative decaiboxylation s§)580 G5°on8TAS
SrBE L PHIS
4) PEP _ OAA - Dehycirztion QYO8 s

Observe the statements and firaaui the incorrectly stated ones
DBE"R Trgpgosy ESASod
A) Denitrifying bacteria redues NO_-
D5 BECem arfdosoSnen NO™, & gooEdmo Bodowo
B) Parasponia is a nonlegume having Frankia in its root nodules
ST dwos® (Frofairdo EOAS Bhrgd 2788 Todd InE), — Fo NI
C) Host uses lectins to attract Rhizobium
v8Fon 0, DE'DA0H BEHoLE SiSoH INSrAY0b
D) In eukaryotes hn — RNA directly involve in translation
daBoE 2He® hn—RNA $&ggomr efoardo BES® TS0
1) B&Donly B & D $om@o 2) A& Conly A & C5rg83
3)B,C&D 4)A,B&D

Acetyl Co.A is a precursor for the synthesis of these phytohormones
&P E'FE IS0 Jogdetd odBS Co.AeId FEmd Sorgomr woknod

1) IAA & Ethylene IAA 508050 2898

2) Auxins & Cytokinins 58)S9 50800 ETBIS

3) Cytokinins & Gibberellins DETBIS L 500050 2e0dS e
4) Gibberellins & ABA 20O en S8 ABA
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39.
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Which one of the following is neither belonging to Short Day Plants nor to Long Day Plants
808 2 30§, Xy 83 o InHeo §AE 5 So BY 83 o I 58
BodSD 58

1) Cucumber ogooas
2) Chrysanthemum BrofBo
3) Beetroot DS
4) Soybean, Spinach DPAETOEY &, Fo¥rd
Find theincorrect statements 205" Trgpgodo KBowod
[) Natural mutant variety of rice is GEB — 24
GEB — 24038 s&zom J6)88 &8 0548 50 S&o
II) Bruise resistant, delayed ripening tomato variety is flavr savr
RIE — D56 ©IB KW BTN, vodgom 58 ST) ESre* E¥o
[I1) Mass selection variety of ground nut is TMV — 3
TMV — 3 38 deosdmo ogo° FHoswdS IHISH s¥o
IV) Natural mutant variey of maize is Bhaskara
0 038 InH)FK)S* STsomr AEAS GEPSES SEo
DI&I 2) &I ) M&IV HI&IV
Assertion (A) : Selection within a clone is effective unless mutations intervene

S &PSESe0 8EKENFB, o8 §° Smoudibo S& vrads Hds evotron
Reason (R) : The progeny of a clone are uniforii
a8 £33 JnHhen 868 eolron.
1) Both Aand R are correct. R is the correct expianation of A.
ABo0050 R85, Ress A $38 25
2) Both A and R are correct. R is not the correct explanation of A.
A 500050 R85, Ress A S £850580 52
3) Aistrue, but R is false £y,5°0 Re&dy 4) Aisfalse, butRistrue A $53,5°0 Ready

Natural process comparable to the laboratory process of genetic engineering is
PRrETos’ 30D BILE R08d00A8" FNEAS SHra SEg 0 ?

1) Crossing over FEKS 2) Disjunction Q&Boresd 500

3) Fertilizaton RISTA IS 4) Synapsis 3G 5 HorrSSn
Seeding material of mushroom is called QDTG0 o558 IS0 BHBrhoBd

1) Flush 22 2) Basidiocarp BERrS°G)

3) Spawn S 4) Trama g doe

In vegetatively propagated plants resistancy to viral diseases is incorporated through this

method
TP PSg8\8 BHYHEI InH oS JES Tgdol TFAISEEFE SI DLty od
Q IFTTR) BIBrATSE)

A) Hybridization Yo&8m

B) Recombinant DNA technology 857003085 8.93.9 Bes

C) Shoot tip culture soa ey S¢S0 Bosne argo”

1)AorB Az Bo oy 2)OnlyB Bargd Sorigsdd
3)Only C Cogd Sorigadd 4)AorBorC A Bdw Co ogs

-10-
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ZOOLOGY

42.

43.

44.

45.

46.

47.

Branch of science that deals with structural and functional aspects of DNA
DNA domy00 508050 dgoods #rd) 5808 Qo

1) Genetics CESIEATOI 2) Evolution 2508750 TR0
3) Cell Biology g B3 R0 4) Molecular biology — @=s0gdako

During amoeboid movement gelation is due to

o8 K00 Sok BBAS s’ s*Emo

1) Folding of protein molecules by taking wate:¢3s> @enden dE ((§erod SoksHkoes

2) Unfolding of protein molecules by losing wag@ts<s weoden A 8% o Sodd Doty
3) Unfolding of protein molecules by taking waigrss @eoden e $erod Sodd dekowsd
4) Folding of protein molecules by losing water@:e&s weanes A3 8% yon Soddheots

During the conjugation ofVorticella, the chromosomal number is reduced to half during
Sgwer dodrHo Sodd E*SerSne Sopg M8 Shodwdd &

1) the formation of conjugants BoRBrK EPeo JGVESYE

2) first post zygotic nuclear division B3 H0osnE BoBE GBS Desesd

3) last prezygotic nuclear division D0 Doosng To(E Yrogased

4) first prezygotic nuclear division 00¢5¢3 Doosng Bo(E Frogased
Pseudounipolar neurons are DGy A£G T8 Ewren 858D

1) Motor neurons o ordSeren 2) PraitGrieurons PENE Tr&Eearen
3) Sensory neurons e T&8eareo 4) Iriter neurons ©odY Sorgord

Assertion (A) : Macrophages are defensive.in function
égea)’és‘ g0 BTEEIN S SOBTHDBS
Reason (R) : They are actually micnucytes which moved out of the capillaries during of
infections and cannigest microbes
2D TETIE IS, 5D VoS vHocsres’ ad EEITOL0S DA,
Eoarorob 80 Srf o effosos
1) Both Aand R are correct. R is the correct explanation of A.
A8 R$882, Rokss A S 635 58
2) Both A and R are correct. R is not the correct explanation of A.
AS:805n R&850, Rwsss A s 835 9880 5
3) Aistrue, butR s false £y, 50 R&dy 4) Aisfalse, butRistrue A 853,50 Rady

In Pheretimathe parietal layer forms OBSr S0k Budghdo DB A8)ESS
1) chlorogogen cells and setal sacs §8 RS S $H0050 LrEfteen

2) oviducal funnels and ovaries R Deaers® odomen Sodasw (@ Des’aen
3) septae and primordial germ cells DegTrezsren $o80%0 (EE Dudearen

4) septae and typhlosole Degrazsren $080%n o @ H®

In the circulatory system ofPheretimaseptonephridial blood vessel is formed from
DOBBEr BOCw BgSPe*t Deral S)E) SEYo B Hood AGydoS

1) Ventrotegumentary vessel ST EE SET o
2) Commissural vessel L0788 S8 ¥o
3) Ventrointestinal vessel 3Tl S ¥o
4) Ventral blood vessel &3S S0

-11 -



48.

49.

50.

51.

52.

indiavidya.com

Chromophilic cells ofPheretimasecrete POBS S0k (B°IrHOF Eoren PJowOSH
1) amylase ANOE 2) lipase SR

3) proteolytic enzyme (FPERrBEE do@Soen

4) digestive juice comparable to pancreatic juiB Q) RO £gsdo

Which of the following can survive mostly on metabolic water

& (808 TUS* A8 Swopgomr BSENS' AGAS B WIrod HodoKd rhow Eodd
1) Kangaroorat gomdaens 2) Kangaroo gomrdd

3) Opposom 2P0 4) Camel 2,08

Read the following statements about cockroach

"o’ J02080NS & (808 a*s:pge:.‘éo WES08

) Hind wings lack in nervures BodS =8 B ok 7R ol

I) Trochanter is movably articulated to coxa (¢5°s~o& 8 &§'smB £88dFom Hof&ESK0S
1) Lenticular cells secrete crystalline cone 8o srgers eren $)838 FopoPHdo B 00
IV) Tracheoles are intracellular structures — s*cSn&r@Een o0&y doye e

Identify the correct combination of answersaées® $8@os 8 I8 Sod

landll 508050 I 2)land IV | 508080 IV
3)lland IV 1508050 IV 4) lland I Il So8cs0 1
Myiasis is caused by So03rd580 gensFasnsd

1) Wrigglers 058) 2) Tumbiers 2096

3) Chrysalis BrOR 4) Magoots S55¢5e0

Read the following information about cockroach
5" QoE B Jow080NS & 1808 ISrIor) (WAHod

Structure/cell Occurrance Function
domy@o/Ewmo wodogrin 28
[)  Titillator Right phallomere Helps in copulation
éSéSEgéaE A JreS Do doBG0e® JFEBoWL
Il) Stinkglands Between 5 and 6 abdominal terga  Offensive odour
dogog | fogoen @880 BoE) 5,6 [Rdosre gy SoogdS EdAob
[ll) Trichogen cells Hypodermis Formation of movable
bristle
B853S Lerren od:{)d0 E88 KodobSreodd
S
V) Tentorium Thorax For attachment of muscles
Hoés*oasoo & d S0 Eodoreon &8 Sob
Identify the correct combination of answers® o°e* $8GBoS =¢
1) landlll 508050 11 2)lland I Il So80s0 I
3)lland IV 1508050 IV 4) 1l and IV I o880 IV

-12 -



53.

54.

55.

56.

indiavidya.com

Match the following and choose the correct combination
Bod A BEHED, PSS TAY IX)F S0

List— 1 Hegs—| List— 1l &g — Il

A) Nosema notabilis 1.Intercellular parasite
SHEr FLrDOS gerrodd Ho°K)ED
B) Wuchereria 2. Intracellular parasite
&udoS> Sarody S0°H)RD
C) Trichomonas vaginalis 3. Non pathogenic parasite
B&IrTD IBTOD T EON0WA Hord)ED
D) Trichomonas hominis 4. Coelozoic parasite
BE3rad IS B8 So°8) 4D
5. Facultative parasite
SEONE S0°8) 2D
A B C D A B C D
1) 1 2 4 3 2 1 2 4 5
3y 2 1 4 3 4) 2 1 5 3

Read the following statements Bod Trgpgodd oggafoso Bokod
) In the life history of Entamoeba histolyticafter encystment the nucleus undergoes two
successive divisions to form four haploid nuclei, resulting in the formation of tetranucleate
cyst
Qobroer YT 2SS0 ES® 5o BodS HHrd H0°%) ADS*D Bo@Eo Dok
508y defad Bod Teofd JEJSE Tosen fo T olE §TR) AE)K0d
) In the life cycle of Plasmodium according to Bano the first nuclear division of sporogony
IS reduction division
AT ] -l 1) T Bofoo D& S/ ES* ag,bezesag So&y PFS0 Jefad oo ey:sd
[1) In the embryonic development of Tacriia the first cleavage results in the formation of a
micromere and a megamere
Sdosr boa“@&‘))ges‘ J0EE 2iEN0 vdodEo Wl S g podo, e 'éo‘;e oo .'Ddo)csoéa
IV) Microfilaria larva is the first larval stage in the life cycle of Wuchereria
©586005> 228 IBFS® FoEPBoS>r Bogfoko BFS Boe S
Identify the correct combination of ANS* $8BoSD
1)land IV [S08050 IV 2)lland IV Il 2080501V
3) land I [So80s0 I 4) All are correct DHQT0

One of the following represents Linderman's trophic efficiency rule

0085rS Fim I;JgE HBod Tgpg Do

1) The percentage of NPP that is converted to GSP in herbivores
P’ GSPr 388 NPP #¢o

2) The percentage of NSP that is converted to NSP in a primary carnivore
@EDE SrorFtHes® NSPr 8788 9rtHos’d NSPago

3) The percentage of GPP that is converted to NPP in a herbivore
rsos® NPPr $588 GPPargo

4) The percentage of NSP that is converted to GSP in climax carnivore
2085 SrorHtHes® NSP e 3788 GSPasgo

The feeding relationships and trophic functions are ideally represented by means of
2ho Dy Fldw Somomren, Flm Jon Ao FH T LrDoB Y.

1) Grazing food chains 3> 588 Fendo 2) Food web 558 erogo
3) Pyramid of numbers &oarghdiné 4) Pyramid of energy ¥8 DED&
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Assertion (A) : In case of density independent growth curves after the lag phase, the
population growth continues in an exponential form and then crashes
abruptly
Foger oG08 IR SEVPSosy | >rdoef FHSEY olodSo T
0830 oo Bpm 5HRBoBS SHTS V&I KT B°A" Soafdi0s
. In arapidly changing envrironment with fluctuating food sources r -selec-
tion operates which emphasises rapid growth in population rather than in-
creasing competitive ability
FodSrS 8S* s ESiten o, Ifom Srdéd) Hodcee® I- SEmo
5FL Yo FB¥E o8 Sogrgd i DM EL K SrEDo P Snpgo wsgdo
28008008
1) Both Aand R are correct. R is the correct explanation of A.
A8 R$882, Rokss A S 635 58

2) Both A and R are correct. R is not the correct explanation of A.
AS:8050 R&850, Resss A 835 9880 5

3) Aistrue, but R is false £y, 50 R&dy

4)Aisfalse, butRistrue A 859,50 Redy

Reason (R)

Ancylostoma shows the following features ©o3e*sr & 18od ofmrod HEB) WIS

1) Simple amphids and poorly developed excretory system
FTED WO $600 PO LPBHY Bod IHYS 3553
2) Modified amphids and poorly developed excretory syetem
8o 25?63;) R08S &9033663 S08a%0 dom %92",)259)% RoB &’)égf‘é 2.65&6“:@0
3) Phasmids and amphids are highly moditiefeh¢fy S08aia) ©0%e) erm S380) Bod oot
4) Phasmids are present. Amphids are sim@gs shaver esoddy redoom ool

A non-chordate with a mesodermal endoskeleran
30655553 8IS w0y Hombo Eo PRI EE 2D

1) Ptilocrinus
3) Pennatula

@é‘@é%
‘zbs:zéoag@

RIS

2oz°E
[Ch)

2) Palaemon
4) Pinctada

A common index used to meast.re the species evenness as well as uniquness of species
THO SHd VRESSH, vdgoE (BgE wrEHoH Wrdod o FSrdy SrDE

1) Shannon Weiner index

2) Simpson's index

3) Pielou's index

4) Pielou's and Simpson's index

SIS A8E — JdrDE
2OYS L dE

2S® Jor ¥

2" BB Doy AN

The notochord is permanent in the following animal$ygSo#o sdggom £d4S =odoHen
1) Pyrosoma, Branchiostoma, Dunkelosteu$&'as s, eroRrgpsor, dosergoid

2) Ascidia, Petromyzon, Oikopleura
3) Oikopleura, Branchiostoma, Myxine
4) Herdmania, Amphioxus, Cephalaspis

The following bone is absent in crocodiles
1) Clavicles
3) Sternum

23S0

ﬁis&?\@)
Amphicoelous vertebrae are presentin
1) Sphenodon and Varanus

2) Archaeopteryx and Eunectes

3) Myrmicobius and Gavialis

4) Archaeopteryx and Ichthyophis

-14 -
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©ONE YT, 0P RTF I, D8

Kr’gﬁa&)oﬁr, S0RATE)D, DHLY

S0d¢eS* & §0d 2O dB0Ee0 wodo
2) Coracoides
4) Proatlar

®od Kowr e
g 88550
aefoosd E3dosren EOAS modPHen
TS $:8080 D075

58, G3308) 56050 A50IEH

200, HANS H000 AIETS

258, BRBE) 50050 EEFHD
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65.

66.

67.

68.

indiavidya.com

In rabbit the diastema on maxilla is extended between the
Sooden 2BoPER D8 Hgg EASrRPST IF00D wodod

1) First incissor and the second molar 00¢5E3 Bo08E0 BB Fowsed Wigeaso

2) Second incissor and the 2nd molar B0 BoosEo $o0a%0 Bos Hdgea¥o

3) Second incissor and the first premolar B0 Boos80 b 00 wEdeaso
4) Second incissor and the first molar B0 BoosEo $oba%n 00 WSgeaso

Identify the wrong statement about the oxygen-haemoglobin dissociation curve
u8)ES - TIADS IBrES SE Sps Jowofod /YT WEYY) Tgvg
1) At low temperature the curve shifts towards left

vy BPHSO ¢ ITrad SEIP IEHIHE SrsS08
2) Atlow pH the curve shifts towards right  @ey pH $¢ $E3 8395 Srd808
3) Decrease in P{3hifts the curve towards left  B@asdyds S0 6503980 Srdhebod
4) Shifting of curve towards right side explains the Bohr effect

SE0D SobIYE a8Kso &6 Perard) Jrddob.

The musculo skeletal system with reference to foot shows second class lever system where,

the

> A8 Jo2ofod) Eodd @?&g;’aoad 535%6‘ VodS SEK8 oerdodo Sodd

1) Fulcrum lies between effort and resistance wado ©Hosrem8, ISTTRE $odgs ooy
2) Resistance is in between fulcrum and effort 38° 650 o8, KHaben)d8 Hoggd ok
3) Effortis in between resistance and fulcrum Hoh&)o 578, o8 Hoggd wokodo
4) Effortis in between fulcrum and resistance @0, e7°0°08, I8 $oegS eroctodd

Arrange the following reactions occuring during cioing of blood by intrinsic pathway
aSEBYE S¢8s° FES) 0880 Sodd 28070 & ($0¢ SEg0 S0Fod ESrQ) Hofowod

A) Formation of thrombin LT AT Y- STX

B) Release of factor XII Xl 5880 &S eMod
C) Clot reaction $oss W

D) Formation of soluble fibrin E67 @S A8dob

E) Formation of prothrombinase e 0dIer AE)dob

F) Action of factor XIlI Xl s~88o0 S8

1) BoE~A-D-F-C 2)E-BLA_-D-F-C
3)BLbE-D-A-F-C 4)B-E-D-A-C-F

Read the following statements about formation of urine
Sargo A8YE IGIAE Howohod & (Bod Tgpgeoo H08Dosod
[) Solute reabsorption during urine formation is regulated by angiotensin Il and aldosterone
Sorigo A6)ELoS* |G HIBFENS J0BIrEYS || bt el oS
Qo¥oo|Bowod
II) Facultative reabsorption of water is regulated by vasopressin
SEO)E B HB:F* 8w TS dofo@oodo
[11) Atrial natriuritic peptide enhances the absorption of water and Na* from the distal
convoluted tubule
ABO0S P cSroi3E DR FDodg € Kood A Hodakn Na'e PI:Fdesd
N0T0E008
IV) The secretion of aldosterone is stimulated by angiotensin |
0BABrBYS- | 9SH6'S @) (W0HN08

Identify the correct combination ANS* BBDoS IXrFRH WSS Mogosod
1)land IV |50808%0 IV 2) land Il [50808% I
3) lland Il Il S0808%0 I 4) Il and IV [ So8as0 IV
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Read the following about extraembryonic membranes of rabbigod %¢ &S 50880w0d

Extra embryonic membrane Derived from Function
erdrgdod #guo LAY SETA) ]2
[)  Amnion Somatopleure Protection
)0 ST - SEe0
Il) Allantois Splanchnopleure Formation of placenta
es®odo PES'SL S BOPCSNY) HO7)EN
1) Yolksac Midgut Nu trition
S5S50D Sogrgogo i
V) Chorion amniotic folds Outer walls of Excretion
SorodnD) GeySodden DS
The correct combination is ANS* HBBISD
1) landlll [ 308050 11 2) lland IV Il $o803%0 IV
3) land I [$0803%0 I 4) lland Il [l $>8030 1l

During the absolute refractory period

5850 HBE'SE B ooS0dd

1) Both gates of Navoltage gate channels are closed
S3E 888 Na© 538 S0tk Ko Bodks Bexy Sordhad ok
2) All the gates of Naand K channels are open
SPEABE Na" oSS Sovosw KY areg) Beay o) BEHULTR okl
3) The Nd voltage gated channels are either activaied or inactivated
STEABE Na© 5dey) BSSgH08 Sor BESg 87 HPBS® wotron
4) The axon is in resting stag&)B:so) Do75H8C" otnod

The enzyme essential for the formaticn o1 provirus of HIV

HIV @36 bd_)csoéo& OSEJS HaE

1) DNA polymerase DNAZ®%:0&
2) Protease (P TE
3) Reverse transcriptase 05Q) ErYERE
4) Intigratase 2083RBBE

Sperms are produced without reduction in number of chromosomes in
E'3rs'oe Jopges® goEdmo Stor HiESwre G8)8 Jokes® sl
1) Human being S8y ek 2) Drosophila ERFDor
3) Aphids D 4) Honey bees BI83Ken

The trait traced in the below pedigree
E08 30559 B 303503885 Srdovodd

1) Incontinentia pigmentiinssto&3oSas> HRyoes 2) Haemophilia—B

3) Bald head WS 4) Tritanopia e nas
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Assertion (A) : Lac operonis aninducible operon
orf 0] 03058 of (W3S wdors
Reason (R) : Allolactose induces the expression of Lac operon by binding to an allos-
teric molecule
oS'orfS af 0’ P05 vmYHS® wofodwd Sogor orf adoS SghEsaso
CLEELP RS
1) Both Aand R are correct. R is the correct explanation of A.
A8 R$882, Rokss A S 635 58
2) Both A and R are correct. R is not the correct explanation of A.
AS:8050 R&880, Rwsss A S 835 9880 5
3) Aistrue, butR s false 40y, 50 Redy 4) Als false, but Ris trué\ 853,520 Ry

Following are APCs

808 IIS® P8BIE dHoEyw Eerren

1) Macrophages dposs Seoren 2) Dendritic cells Bo(@E3E Segren
3) B—cells B -Seoven 4) Allthe above 25050

Evolution of Limulus polyphenusfrom Aglaspis eatonis an example for

AMBYS &' $o0d dSngeS FOHSS H0erSo Bodwo A8 wf GTidw

1) Punctuated equilibriumiosn3s& d50eg8  2) Phyleticevolution  8¢8 Hoersoo
3) Homoplasy FFIrad ' 4) Parallelism dSTrogdEso

Cyclosome directly triggers the destruction of

VEFS & 808 IIS® wETID Idom dYIo VoS

1) Cadherins 53 00 2) Cylir. B 285 B

3) Cohesins FordRe 451 Juiquitin 05008083

Match the following  (§o8 S 288V s

Type of net Sodgo Used to capture  $én&'ed &S
A) Gamcha  Sovy 1) Chanoschanos »°&'® o8
B) Dip nets ASIE 2) Bottomdwellers Q¢ ©dofosS &od TdHen
C) Stake nets 25 So 3) Sardines FFS
D) Trawlnets &S Seo 4) Hilsa Sals )
E) Gillnets ASIES 5) Fishspawn Bl Ko
The correct matching is
A B C D E A B C D E
1) 5 3 1 2 4 2 5 4 2 1 3
3) 3 4 2 1 5 4 5 4 1 2 3
Erythropoiesis occurs through the following stagesgs*em$s sgod d¥eo orgo {rfenod
A) Erythroid progenitor d8|@on& | @*BIerS B) Reticulocytes
BB B PN
C) Proerythroblasts ~ (@Q06&° erdgen D) Erythrocytes 88" ®éx
E) Erythroblasts A/ S*er Sy o0
F) Myeloid progenitor Soerond @&8dér§ G) HSCs HSCe»
Identify the correct order D¢ %808 ESr) Srdow s8I e2d I8 Sod
1) GL,F.C-A-E-B-D 2) GLF.C-A_-E-D-B
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Pregnancy test is an example for

Kd‘)o"'d S0 05058 88 wf dorSde

1) Direct, competitive ELISA ©eg8, 52008385 ELISA

2) Direct, sandwitch ELISA g8, 70805 ELISA

3) Indirect, competive ELISA $6°%, 5702¢5¢3S ELISA

4) Indirect, sandwitch ELISA $8%8, To&W ELISA
PHYSICS

82.

83.

84.

85.

If A=3-j+2kand B =i+j-2k thenthe unit normal vector to both A and B is

A=3-]+2k 508050 B=i+]-2k Dok ©B¥e0 vond & Dok HBFe owomrasNd)
Dsof 5o¢

1) 8j + 4k 2) 80 3) 2j+k 4 3+k
) 8 +4k ) 80 ) 2j+k )~ J5

A body is projected with a velocity20,/3 m/sec at an angle of 80with the horizontal. The
velocity of projectile is perpendicular to acceleration after atime............ and perpendicular
to the velocity of projection after atime ..........

o8 59 20,3 MisecSKos® §8a s5rod8 88 6P Fmo Bosnsty BEX0 Bh o°d 34

8Y, dedmo BIH vowom GodLE HRPFOSD AVL (V§) ¥ vowom woddb i
2 BP0 ...........
1) 3 sec, 4 sec 2) 6 sec, 8 sec 3) 4 sec, 3 sec 4) 3 sec, 6 sec

Apparent weight of a body in a lift wheniit is cccelerating upward is 960N and when the lift is
accelerating down with the same acceleration apparent weight is 240N then the apparent of
the body in the lift when it is decceierating up with half of the magnitude of initial accelera-
tion is ————(g = 10m9)

o8 &m0’ af ) D& BLWB)HU B0 I8P BwE), S)Fgerdo 960N 8
g8wod’ OF) BodE Edenod)Hdo S8y S)fgardo . 240Ned &idw S0Srmos® SKo
505rmo o anedidnos’ 0F) D8 FHPHE) 589 &)fy erdo (g = 10ms?)

1) 480 N 2) 420 N 3) 360 N 4) 1380 N

Two particles of masses 1kg and 2kg move towards each other under mutual force of
attraction, when the relative velocity of approch of two particles is 3m/sec the velocity of
centre of mass is 1m/sec and the relative velocity of approach becomes 4m/sec the velocity
of centre of mass will be ............

82 500050 2820 ((S5goHen fo Dok Ewren ©s'gsy vidm S0l af T i
JADHITYoN. 8D JWdod FwE Mo IM/SeR)ivd T8 |$S5goe8 Bo JKo lm/sec
458, ©d Jdod FwEIMo 4m/secowond ESgord oo ... ©HL0d

1) 4 m/sec 2)1m/sec 3)2m/sec 4) 3 m/sec

20 joule of work is done in raising one end of a uniform rod from its horizontal position
through 30°. The extra work done to raise it to the vertical positionis ........

28 D668 E4 §82 S5rodS FNo %08 30 E'mo P8 BHw s 2053 5 20 Jeoxnd &I
AYIeY 33:606' GOoWLE BHISODS OESD) DO wvvereeneee

1)40J 2)80J 3)20J 4)30J
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Two blocks of masses 2kg and 3kg are connected by a light spring they are compressed and
released. The ratio of their stoping distances. (The coefficient of friction is same for both)
28200 S00c» JBBe |$Sgorden o Dok B3I BIBS PYoMd feodwdIton. ©

B30 St BBy S805YW ©d ¢ Sroco AR ... (Bo&ks BIB Jos Jogw
fowsren H5rS0)
1)3:2 2)2:3 3)9:4 4)4:9

A disc of mass ‘M’ and radius ‘R’ has a moment of inertia ‘I'. If a circular portion of radius
(R/2) is removed from the centre the moment of inertia of the remaining disc about its own
axis will be is

M g5gor8 Sodasnd 'R’ argardgo o af S)Ems s DB SFargndomr addg erdoso I
& Bodoe® R/I2Zargdrgo o IS £88008 JADS DY) uddy @roko ......

" ! o3 FEL]
)16 )4 )4 )16

If R is the radius of the earth the height from its surface at which the acceleration due to
gravity is 9% of its value at the surface of earth is

rdo Jgrgo R, ond ardo ¢H0E00D oo 008 08 I ¢ HdodgSdmo Dend
g0 SNE(EEDo eSS 9% wotnod

10R 91R 7R
vy 27 V3 AR

The P.E of harmonic oscillator of mass 2kg in its meari position is 10 joule. If its total energy
is 15J and amplitude of oscillation is 1cm time periga ot oscillation is ...........

DO ¥ Todos® HI) Bod L. $Sgom8 (@) wf S0P dorSopdos” wdiydo
3878 10 J2 ySoes* 358 o°d Bowgo ¥8 15 J£5050 Eobd H008 1cMeonsd o°d eS5gS
OS50

T T T T
1) 505 sec 2)50\/f) SRC 3)50\/1—55ec 4)100\/5 sec

One end of a uniform wire of length ‘L’ and mass ‘M’ is attached rigidly to a point in the roof
and a mass ‘m’ is suspended from its lower end. If ‘A’ is the area of cross section of the wire
the stress in the wire at a height of (L/3) from its lower end is

DEB8 8 >EH L i8S dhgo ‘A S008c5n ($S55078 ‘M & wE £5 ok Ferd
8ohwd0d. " vl FSH ‘M KS5goe fo SPH Berdd 84 vdrd £5 Hod
L/3 a8yes* &He* H8woo ..........

p %m% 5 (e Hm%
A

When water rises in a capillary tube of radius ‘a’ to a height ‘h’ its P.E is Eif the capillary
tube of radius ‘3a’ is dipped in the same water then P.E of water is,Ehen E; : E, is .........
‘a’ ;rga'go 0 BIT9ES I8 S® @oDSHE o8 N’ Sodo S8 NS A 1TESB. & &S
Qée’g Elesa oe3es® ‘3a’ ;rga'go o BIT9EH denPhm 030889 %o IS8 AN ErsS &
38¥8 E o008 E; [ E,...........

1)1:3 2)1:1 3)3:1 4)2:1
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Match the following statements
& 1808 A Jgrfos®d ordod) B dgrdos® ordhes® K0dregyod

Section - A Section - B

1
a) Kinematic viscosity e)E PA (V2= V,?)

B bemé foe&o
b) Dynamic lift  n/p
HBE ﬁa;o“a.‘So

1
¢) Equation of continuity g) P+ 5 pV2 +pgh = constant ¥do
Foddg dWEEwo
d) Bernoulli's theorem h) AxV =constant  %&o
aand daodo
l)a-e,b-f,c-h,d-g 2)a-e,b-f,c-g,d-h
3)ya-f,b-e,c-h,d-g 4)a-f,b-e,c-g,d-h

. : . , : av'x
The P.E of a particle varies with distance ‘X’ from a fixed point as U :Xwahere aandb

2
are constants then the dimensions o% is

av X
&8 00 B0, Q@ ¥ Sr8o ‘X Hom S50 Saksvwo U= X—\-IC)’ a, bex Qo‘os‘m @00
a_2
F ﬁoaéz, Aoesoen
1) M2L5T4 2) M2 L4 T 3)ML2T2 HMAILATH

A sphere of mass 'm’' suspena=2u by a massless string is displced from its vertical position to
the horizontal and then released then the tension in the string when it is crossing the position
making an angle 3@ with the vertical is
‘m (8550 Mo 5P K550 S (@ dod' FordBonds. 8D dwnPHdeoood
882 337086 FX0SE 300w S80S 18 ey 87* 3P0 T SosE)os®
EEoS°) SSgS-------
3v/3mg 3mg mg

> 2) S 3) ) 4) mg
Abody is floating on a liquid surface. At 6C its 75% of volume is immersed in the liquid.
When the temperature of the liquid is increased to 18 it is immersed such that 20% of its
volume is outside of the liquid if we neglect the expansion of the body then the coefficient
real expansion of the liquid is
af 5509 $S50D FoowoH)d 0°C 8¢ & 5809 SwE), FHH5585rmos® 75% ($Soes®
50JRB0H)B ESoB0E), eisso 100°C & HodS 5899 S5 BwE), H3505rmos® 20%
G50 Jende Boddin SN BHE I8y TgSod B LS v (S0 B, d=
SgE S oeEo
1) 60.6<10°5/CO 2) 60.6¢10°9/CO 3) 66.610°9/CO 4) 6.06¢10°9/CO

1)
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The pressure and temperature of an ideal gas in a closed vessel are 690 Kpa arffi€53
respectively. If 2/3rd of the gas is released from the vessel the temperature of remaining
gas is raised to 374C the final pressure of the gas is
ol Sord &%) s 690 Kpa bdso Sodcsn 53C e 3¢ sdsTosnd doved
@), "0 o8 2/3 Jod |KSgo" o TPBWY Jwodes FonSd. DAOS ITTINY
s HSS 37PC & YPhH oo 8 dESo ...
1) 920 Kpa 2) 460 Kpa 3) 230 Kpa 4) 690 Kpa
Thermal conductivities of silver, copper and glass are KK, and K; such that K, > K, > K,
If the rate of flow of heat across unit area of cross section are same the relation between
their temperature gradients X;, X, and X; are
308, o°h S00cn M o GJSTS Mmsrer Scosm K, K, Sodosn Kiae S04
Somogo K; > K, > K, 58 95708 YN8 wowom 5708 5reoe® HSirod wforded
DErE8 8 P WS SBESren X, X, Hoddsw Xo Hog¢g dowogo
1) Xy =X5,=X5 2) Xy > Xy > Xg 3) Xy <X, < Xg 4) Xy <X, > Xq
Assertion (A) : Inisobaric expansion both volume and temperature of the gas increases
TS0 JOE DES TgES DB 03505 rmo So805n SIS Dok
R8RS o0
Reason (R) : In isobaric process heat supplied to a gas gets converted partially into
internal energy and partially for doing external wrok
Qdi)éc‘s BI80%0e5* TP Ko HEHo° oo dS @J0 voddd ¥§ Db sk
308050 erdrg E6 80 IADTrA0SEIS
1) Both Aand R are correct. R is the correct explanaticn of A.
A8 R&5852, Ross A S 635 58
2) Both Aand R are correct. R is not the correziexplanation of A.
AS:8050 R85, Rwsss A S 835 985822
3) Aistrue, butR s false £y, 50 Ry 4) Aisfalse, butRistrue A 83y,5°0 Rady
Two identical balls A and B are mavitig with same velocity when the velocity of A is reduced
to zero and that of B is reduced to %«th of initial value then the ratio of increase in tempeatures
ofAandBiis ..........
A 500050 B o® Bodo 3855858 wodoen & Ifod* K00 wod I&H IH vPirees’
A 3650 drdg B Ido 17435 Sodoko 678 A S00csw B eside dhdoe )8
15 16 16 4
1) 16 2) 15 3) = 4) 3
A ball is projected horizontally with a velocity 10m/sec from the top of a tower of height 10m
and another ball dropped simultaneously from the same point (g = 10nfjghe ratio of their
final speedsis ..........
10Ma&y o A*HE 3pdo $ood 10M/se@Koé® &€ 208 §8a SSrodSom HEH0 BaoadS8.
3 s00e® F)E 3pdo Ho08 IGE 208 )T 8088 FEIA Y Jod e BN I8
Sdoo QG .......... (g = 10m/¥)

1)\/:_3:\/5 2)3:2 3)1:1 4)\/5:\/:_3
A Tuning fork whose frequency is given by the manufacturer as 512 Hz as being tested using
an accurate oscillator. It is found that they produce 2 beats per second, when the oscillator
reads 514 Hz and 6 beats per second when it reads of 510 Hz. The actual frequency of the
fork is
P8 Sod ®&BE NN o FS:YTgR) S12 Hzme SgEidardo. oSS G'osos® o))
S880wasHd Sl >S:98go 514 Hzad)dydo ddyosaren DESE ‘2’ Gfo¥ S:98g0
510 Hzad)dydo DESSK 6 ddpdTeln wé)8 37 W8E08 oden BN .
1) 508 Hz 2) 512 Hz 3) 516 Hz 4) 518 Hz
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When a train approches a stationary observer the apparent frequency of the whistle is n
and when the same train moves away from the observer, the apparent frequency is Then
the frequency ‘n’ when the observer moves with the train is

a8 Doo uh B¥) H080B58D HDoATHE BES IF IBS FI:)Sgo N; © Jeo VE) T
FHSHK DI FS:HSgo N, S0 BEY DPees® Ha¥rmo FonSHd wEsH IT IBS
FI:)8g0

_np+n, ~ ~ 2n.n, ~ 2n;n,
1)n—T 2)n=/nn, 3)n'n1+n2 4)n'n1—n2

A square of side ‘a’ has a charge 'Q" at its centre and charge ‘q’ at one of the corners. The
work to be done in moving the charge ‘q’ from one corner to the diagonally opposite corner
IS

‘a’ ghzo Ko SSEo Boo 5§ ‘Q Dodd &rd vlFo BB, T wE Swre 5§ I&E
oS8T 8I¥o ‘( @b, & sITA) T ASHT &) Soros BEHLE FoSODS H

Qq Q2 Qq

2) 4T ja 3) 4T 4) 2TEpa

1) Zero

For a cell the graph between the potential difference V across the terminals of the cell and
the current. | drawn from the cell is as shown the emf E and internal resistance r of the cell
are
a8 Do By DIFo ¢y FBICHS V 80 &° 5008 F0dS Sgs | © Sogg HAS
() $00S° SrdS IFom BNHS sons & Jobo SV Jgs e weoo E Sodasw
©odd)58'¢o I ©o------

V(Volt)

1)E>2V,r=0.3 2
2)E=2V,r=0.1 T

\
3)E=2V,r=0.0 | >
0

4)E>2V,r=0.0 s
—= I (amp)

A bar magnet of moment of inertia 1.5 10-3kg m? suspended in a uniform magnetic field
when it makes an angle 30with the field the restoring torque on the magnet is % 10-3Nm.
If the magnet vibrates in the same field with small angular amplitude its time period is
1.5x 10%kg M? ad&g @rsofo o Sodafododo VE68 oo odfFos® oM
Seordboondss. o vcdyodo §Ea¥s' 3008mo Josn FIos® eX)iydo TP
5B oS0 weocsn) ErsEo 3x 10°NM & eaHamodo o8 echam,od FEos® soy Eobs
HONSE* EoDowWINYHE T 8IYS 500 ...

1) 3.14 sec 2) 1.57 sec 3) 1.73 sec 4) 1.41 sec

Two short bar magnets placed one over the other with like poles in contact. When the
arrangment is used in Tan A position at a distance 20cm from the compass needle the
deflection of needle is@’. Now the magnets are placed one over the other with unlike poles
in contact and placed at a distance 10cm from compass needle the deflection is ag8in
Then the ratio of their magnetic moments is

2@ GyTren e 3D B0k Dok domroAoeren wf TP w8 DEAID. &
05885 6I5gS 808 Srdfo Tan A FSos® ©s8) 20CMErsos® G408 eahdy,od
Brd) 55ES0 ‘0 wohI)od Jard GYTod o FH Bodkdiy VoI oseR EKSrE
B89 ¥ YoBFMY) VI8 Srifo $0d 10CMErsos® Bodd Hode widddo ‘0 ads.
BoNS BVoAYoee st NG

1)5:3 2)7:5 3)2:1 4)9:7
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The magnetic flux of 50iwb passing through a coil of 200 turns is reversed in 0.2sec. The
average emf induced in the coil in volts is
200 @otx EOAS émSoég OGO Y VI BT o 50Quwb, 28 0.2secees* 536‘6§
Soowd, 8 HYe® (WOEPS V088 duw S'pes——

1) 0.1 2)1 3) 10 4) %1073

Which of the following statement about x - rays is wrong

& 1808 PIWS00S® X - ol Sowodod) SIPSSSSo

1) The energy of photon of continious x - rays comes from the kinetic energy of striking the target
electron
%9&’)7‘3){)(‘6 X - 88e0 Ferdd §8 L0 ©DHrSo DO Q@LS;S $&¥§ o0& Foadrod

2) The energy of photon of characteristic x - rays from a coolidge tube comes from an atomic transi-
tion in the target
whogen X - 880 Perd Fod ¥§ L3 STIr0 DESTe0HS’ Q@@;Eﬁa doEoeo 2888
DB &Y B08

3) The short wavelength limit of continous x - rays is inversly proportional to accelrating voltage and
independent of nature of target material
&9&’)&{):‘6 X - 85e0 é@éééoﬁ@_% ITA) Qo@jcﬁao 253(55 83"6%053553(5"@% DS D000 Yotk
30803530 é.r"?és_ eS“‘KT’o_;‘.E BEIE o

4) The penetrating power of x - rays increases with decrease in its frequency
X - 88egre T 0rcD Foggo d FSPIgo SAS Fnis D&

When 100V d.c is applied across a coil a current ot 1A flows through it. When 100V ac of
50Hz is applied across the same coil only 0.5/A1lows. The resistance and inductance of the
coil are (Take T2 = 10)

a8 iy BSe Sogg 100V d.co gl nerd) £8)0dS o°de® 1AJBgS @5 08.

od 8ASogB S50HZ S:)dgo Sodesw 100V dsmod8 ddogSmos werd) §9)odS:Hd0
oe® 0.5ADE0gE Sr@do HIT00. wond & i K¢ GBS0 Sodoswd dgofo (PEESe
........... (TP = 10 8208 %05»)

1) 500, 0.3 H 2) 15@, \/0.3H 3) 1002, 0.3 H 4) 10®, J03H

Equal currents 1A each are flowing in the same direction through wires of very long length
parallel to y - axis located at x = 1m, 2m, 4m, 8m ...... . resultant magnetic induction at
originis ......... Tesla

Xy $00&5* X0g0D Y- ogd8 SSrogdom X =1m, 2m, 4m, 8m ....... O a’ga‘oé‘ oI 83
FEIS o SSroddom ©50) B wf ) RS 1A gl HSIoIE

Sorodody) 5¢ 208 edhIodds (wE® ... 8
Ho Ho Ao Ho
b 41 2) 3n 3) T 4) T
A radio active sample can decay by two different process. The half life for first process is

T, and that for second process is I The effective half life ‘T’ of radio active sample
w8 DASrao ¥ Sorefo Bodk HFsHes' Doblo BoBH. IS8 HEES® T ogLdd
500 T 508050 BodS 5¢86° edAddsrvo T,w008 o°d Peardd (effective)eg2dss oo

T +T, hT rs
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The base of n—p—n transistor N—p—@rYPH&e* v d@odo
1) Thick and heavily doped with 11l group element
Soodorr eod Hordd [Kred) Sreold I8 I SrdEdmo Bokadod
2) Thin and lightly doped with Il group element
DM ol Sordd [Kre) Soreod droyom SrdEdoo Bakwcod
3) Thin and lightly doped with V group element
DB w0k 55 [Kr) SrdSgod deeyomr SrdEdeo Bohedo
4) Thick and lightly doped with V group element
Soodomr ok 55 (1) $rdS5goR dgeyomr SrdEdoo Dokl

Focal length of eye lens of Ramsden’s eye piece and Huygen’s eye piece is 4cm then

oPEES H0dcsn RS visbred® I EbE Tefgodso 4 cm

A) Distance of image formed by field lens of Ramsden’s eye - piece from field lens is 4/3 cm
o5NES wffLEos® FgELEo Sg A6YAS H8Dowmo  F ¥ EL¥o H0d 4/3 cmErdoes®
SLAY- ST £11-

B) Distance of the image formed by objective from eye lens of Huygen’s eye - piece is 2cm
SE0Eo S 8BS (H8Dowo TS visbEos® Ii¥ Lo H08 2CMErEoes® dE)B&08

C) Ratio of focal length of Ramsden’s eye - piece to Huygen's eye - pieceis 2: 1
0" S)8S @fELE0 085N PRI wiELEsY 8 Jrafgodore ARG 2 : 1

1) Aand B are true A8050 B en 588308

2) B and C are true Brocty Ten 5053082

3)Aand C are true Ao Cen 5083082

4) A, B and C are true Fiy Broosn Ceo 5883082

Assertion (A) : Two coherent sources_can produce sustained interference pattern on a
screen
Dok Howg Eo8 adsten BEP JE Sg8ECw S e AEESKOY

Reason (R) : Incase of cohzreiit sources light waves in reaching at a point on the screen

always have constant phase difference
boaag 5708 dGomen 86 2B DokoPHo 36026533&35 T8 Sy %d
ST so dodnod
1) Both Aand R are correct. R is the correct explanation of A.
A8 R$5382, Rokss A S 635 258
2) Both A and R are correct. R is not the correct explanation of A.
A8 R&880, Resss A s 835 9880 5
3) Aistrue, butR s false £y, 50 R&dy 4) Aisfalse, butRistrue A 853,50 Rady

A ray of light travels from air to glass. If reflected and refracted rays makes an angle of®0
with each other and the angles of reflection and refraction are ‘r and ¥ the critical angle of
glass with respect to air is

5708 88m0 MO $008 Mere’d8 SfefSSo BoBSHEL Ho SES S08a50 S EfSS 88erren
$EH)50 Loworr HaTow. SoSES Sodakn SEYSS Saren T H0S» T eond Mo
HEom e éoagg‘o .........

1) sirl (tanr) 2) tant (sinr) 3) sirrl(tan i) 4) tarr! (sin )
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A cell of emf 3.2 V is connected across a potentiometer wire of length 800cm the cell has
negligible resistance. A thermo couple whose cold junction is #d@and the hot junction is at
80°C is connected in the secondary circuit. The balancing length is found to be 200cm the
thermo emf per degree centigrade difference of temperature of the junction

32 Va.wr.e o af o 800CMPFEY o FLABT Dbk o H¢y Seoindod. T

o Sodfoe® af ePcsnmd) €05 Sod $08d 00C 5¢ Socsn 38 ©0sd 8(°C ¢
$0DSH B HodroSo BodS FBIAGT Db 8K S&H 200cm.&FcsnrSsnss 1°C e

SgE g8 &Y J.9°.0 ...

1) 0.1 VAC 2) 0.2 VAC 3)0.02 VPC 4)0.01 VPC

A galvanometer of resistance & can measure a current 2mA for full scale deflection. It is
converted into an ammeter having range 9 times the previous value by using proper shunt
then the resistance of ammeter so formed is

80Q d&*$o o megTbdd 2MA DEgE HITINE rh e BISEITY) AR08, T
$DE [0 AE'GR) KeoHd G0 ©S5H 9 Dey DoSwA0s. VoS © VAW IO ...

40 80 20 20
1)39 2)39 3)39 4)39

In a photo emissive cell the incident wave length ¥, the fastest electron has speed ‘V'. If

2\
the incident wavelength is changed t03— , the speed of the fastest emitted electron will be

508 DS SmE wboS* 85 508 ESorBgge N wowssyd ddSedy JogS

2\
KGQS({O V' He88 5708 6605‘6_03)58)4 ? 8 5&%3 (\éadocﬁos Qeﬁ;s K03 SEO veererrrerenns
/2 /2
yv R v 2
) R0 ) B0
/2 /2
3 Lessthan@g V @E{ gy $89.5
) 20 g AT

/2 /2
4) Greater than \%E[ Vv %g 87 8D

Electrons with deBroglie wavelength fall on the target in an x—ray tube the cut—off
wavelengthA, of the emitted x—rays is
A derf 880hgg g0 Ko Jogier XE8m T¢o BE), ofgoR SES5S000S , Jeosad
x-88ere 488 BAFS> o GG g0 Ag

2h _2maN?

1) ho= 2)Ag=A 3) A =

2 2.2
2m-cA
4) kg = h2

A parallel plate capacitor has a capacity|#. A dielectric (K = 5) is inserted between the
plates and capacitor is charged with 10V battery, without disconnecting the battery, the
dielectric is removed. The work done in removing the dielectric is

uf Jdrodd Jeofe £odS0 >0 2UF ordests @3&@35 éwg 11 %o‘oéo 5 &
g0@8)5 Flok 10V eo argbdd Rdom Yod Jofe ¢y Sod &'¢sR) Folohbk
BEDS0DS Ieeeerecrnnenn.

1) 200u J 2) 800u J 3) 600u J 4) 400u J
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CHEMISTRY
Cl Cl Cl Cl
NO, NO, | _No,
121. A) B) C) and D)
I
NO, NO, NO,

122.

123.

124.

125.

126.

The order of reactivities of these compounds with NaOH is
& 330 ¢SSnes NaOHS® Heo Sorgtod $8°5 ESo
1)A>B>C>D 2)B>D>A>C 3)C>A>B>D 4 C>A>D>B

Two alcohols "A" and "B" show iodoform test. In victor Meyer’s test, "A" gives red
colouration and B gives blue colouration. Then A and B are respectively

A 500050 B 3 ue)FtSer wong' o S8y o wrdowod. JES F00%508 H8Ee® A 80D
GoKodo, B Gorodo ai))$d. wond A, Beo Ssdm

1) CH;0H, C,H:OH 2) CHOH, (CH,),CHOH

3) CHOH, (CH;); COH 4) CHOH, (CH;,), CHOH

conce. HNO3

+ B
Cumeneéos) D%a} A0 I_I'_'II H_IE(IDI} Aromatic compound
OEsr8E shwssn s HNO;3

In the above reactions ‘C’ is 2 ddgoes* 'C
1) 2, 4 —dinitrophenol 2, 4 - IJE*ooS 2) 2 —niirapnenol 2 - LTS
3) Picric acid 88 esyo 4) p-Nitrophenol P BE® d>E
. Polymerisition
CHCHO o, A pBPin. B— = ——C
2)oud0 50890
In the above reaction ‘C'is % $&go™ 'C’
1) Polyster FOIHE 2) Polyamide FOIE
3) Poly Nitrile >0 JBS 4) Poly ketone > 8&5°S
Coupling reactions of benzenediazonium chloride with phenol and aniline are

23S, AAOS orods S Trod* BodsS daE*dako §08 287D oS0APESe SEgen énS503

1) Electrophilic addition reactions QO E HOF Dosul WEgwd
2) Electrophilic substitution reactions QO E HOF (BHE $Sgen
3) Nucleophilic substitution reactions Sorg8 Brnd§ HETHE Wgeo
4) Nucleophilic addition reactions Sorg8 Brnd§ Hoded Hygen
Cu, 300°C
CZH SOH in the absence of air A+B
(o THHX)

Cu, 300°C
CoHsOH T Air e A+ C
Then A, B and C are respectively 2 Sdgoes® A, Beoo C S63m
1) CH,CHO, H,, H,O 2) CH,COOH, H,, H,0
3) GH,, H,, H,0 4) CH,CHO, H,0,, H,0
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A weak antiseptic for eyes is
ALY ewir-:sa_g.‘s oS0l g &m 3D TEe S ?

1) Tincture of iodine 8086 6D ©&RES
2) Boric acid solution 5°08 ek (@S0
3) Dettol aLrd

4) Bithionol DEIr>S

A photon of energy 21.20 eV strikes metal surface in the ejection of electron which moves
with kinetic energy 5.06 eV. The value of work function

o€ 'Y S0l D& 21.20 e\WE Ko s 5835Hd ddodeons .)e:LS;S RBoE), K8¥§ 5.06

eV oond v &*5o By I BIocko Jod

1) 21.20 eV 2) 15.06 eV 3) 5.6eV 4) 26 eV

The charge of 0.5 mole of Cdion is 1.5 Faraday. Then the magnetic moment &b ion is
0.5 3rSo CO*" edrHt 1.5 68 dsogadfo ad)d. wonsd COX' vusrs @),
VoI od ErEo Jend

1) 3.87 BM 2) 5.81 BM 3) 2.59 BM 4) 4.89 BM

Which of the following is an example of second order reaction

& (808 TS* Bedo% ESrol SEgE S

1)2H,0, — 2H,0+0, 2) 2N,Oc > 2N,0, + 0,
3)2NO +Qd, — 2NOd 4) 2NsC— 2N, + O,

The dipole moment order of the following is ceirect one
808 I&® BeEYS @rSogo Dende ESo . HoEoSs

1) CH,Cl > CH;F > CH,Br > CH;l 2) CHgF > CH,Cl > CH,Br > CHj|
3) CHF > CH;Br > CH,Cl > CH,l 4) CHgl > CHgBr > CH;Cl > CH;F
Identify correct statements $PS Frgpgosy Kogowisn

A) The order of O — O bond lenygth in G, O; and H,O, is in the order H,0, > 05> O,

O,, 03800080 H,O, 06" O —Owod 3§ g0 Bod 383 Edoos® e H,0,> 03> 0,
B) The energy required for the heterolytic cleavage of a bond is higher than that required
for homolytic cleavage

D80S wod IYBE 550dS ¥§ Sardo wod IYBE sS0dS ¥§ a7 w0
C) As the number of lone pairs of electrons on bonded atoms increases, the bond energy

increases

©0g HESrPO DG 2080 /o QOISO Dopg WOAS Fod wodds DS
D) The boiling point of water is lower than that of hydrogen fluoride

DS Bng), TrhYSS eSS TG ES P& wrh)SS e o) S8y S.

The correct statements are 3D Trgpgen AD?

1)A, B, C 2)A,B,C,D 3)A,B,D 4)A, B

The density of an ideal gas is 0.03 g/ c.c. Its pressure i€ dgne /cn?. Its R.M.S. velocity
in cm / sec is nearly

ol 888 ToSnH B, Fo@d 0.03 g/ c.cH0050 ddso 10°8S / Ho.do? 4)d. e
S50 R.M.S. 360 Do.d. / NES0S® SoSrdomr

1) 1¢ 2) 3x 102 3) 1¢ 4) 1¢
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134. Which of the following is an incorrect statement o8 5°0e5* $0HBodd 50 T gwg

1) The threshold energy of a reaction decreases in the presence of catalyst
& @) DB080S”® w8 B8y Bag) wloeFs SKdH

2) The activation energy of a reaction decreases with increase in temperature
28 B85 S0k SAUSH DoDS wBud 9§ SKHdH

3) The rate constants of exothermic as well as endothermic reactions increase with increase in
temperature
GHITWE S0BN GRITITE W$Ege S0 S DoDS Tt Joroso WS

4) The equilibrium constant of endothermic reactions increases with increase in temperature
QOIS WEge 06 NS oI éaéo@"?\@)@ Qo080 DN PEHL

135. The pOH of a solution obtained by mixing 100 tof 0.2 M CH,COOH with 100 ml of 0.1M
NaOH would be (pKa of CH;COOH = 4.74)
10020.8. 0.2 M CH;COOH (g°$eo7d) 100 20.9. 0.1 M NaOH (S0t Eendm J86)8S
Do Bw), POH dens ( CHZ;COOH @xg), pKa = 4.74)

1) 4.74 2)7 3)8.9 4) 9.26
136. The following is incorrectly matched 0B arE3eS® JBM BSVEEID

1) XeF, — spd? — square planar XgF- spd? —ssse weso

2) XeQ, - sp’ — Pyramidal XeQ— sp — 280sS

3) XeF;— spd® — distorted octahedron XgF s — 26r58 o S

4) XeF,—spid — linear Xek =apd —3doso

137. The correct statement regarding natural rubbei.is
ST Gedodo Ard) S8BoS Jrgeg

1) Itis polymer of 1, 3 — butadiene 28 1, 3 - woglr @ S8 R0g), FOKE
2) Itiscis 1, 4 — polyisoprene 20 V01, 4 - FO DS

3) Its molecular formula isElg 8 weoardnee CiHg

4) Itis saturated hydrocarbon 28 2.8 DoE) TIE TS

138. Identify correct statements in the following (808 &°8e¢* ¥0 wond Jrgpgodo KogowoSw
A) The primary structure of proteins tells about the location of disulphide bridges if any
@*8So (RH08 doywo @ 9P)& 508IBZS wo¥ TBI b0 Jensood
B) At the isoelectric point of amino acid, the amino acid does not migrate to cathode or
anode
550 g DotoP 5§ IS e30 wweE)So SHEE 5, §SE)Se SHEE 5
Hosred oo
C) The deficiency disease caused by vitamin, & Beri Beri
DLMDS B oo Sl 806 B0 g8 A6)dod0
D) a — D — glucose an — D — glucose are enantiomers
a — D —428'% $00a50 B — D — 438 TSen dTABrH8

1)A, B, C 2)A,B,C,D 3)A,C,D 4)B,C,D
139. Melting point of heavy ice is 8 o8 BnE), (GBS PSo
1) 20.08C 2) 101.48C 3) 3.82C 4) 80.9C
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Which of the following solution cannot produce pink colour with phenophthalein indicator ?
Bod T8 d @TSwo PTEOS SrDES® Do§ Sord wSged ?
1) NaHCGQG, 2) NaOH 3) NgCO; 4) K,COq

Assertion (A) : Aluminium is passive towards concentrated nitric acid
mE S5 8808° vorgddoho BArETdo vHLod
Reason (R) : Thin film of oxide layer is formed on the surface of Al when it reacts with
conc. HNO,
vorgafo m¢ HNO,& $EguddsHdo o°d eSddw0 Ird 0w
6B D6 EYB0
1) Both A and R are true, and R is correct explanation of A
A 58050 R oo chargisn, $08050 Ress A S 0005 2580
2) Both A and R are true, and R is not the correct explanation of A
A 08050 Ren oﬁaw’gm, 570 R 95038 A % 380515 d5805°%0
3)AistruebutRisfalse A @88 g 5, R abhargsn s
4) Ais false but R is true B8 comrgsn s, 50 R SR

The ratio of H, gas evolved when 1 mole of Zn,|Aeact seperately with excess caustic soda
solution

05 5°QF d'@ T woes® af IS Zn, Al $8g 20DS ddoderd H,a dsnd SnE), Sreve
SE\I ]

1)1:2 2)2:5 3)1:3 4)2:3

7.5 g of a gas occupies a volume of 5.6 lit at NTP. The gas is

7.5 rdne ¥ 37050 NTP 53¢ 5.6 dgs oEdeddd. wond & Jofnd)

1) CQ, 2) CH, 3) NC 4) SQ

In graphite and diamond C — C bond lengths'ave

¢ S0 ZHodewes® C — Caogdrlo

1) 1.42A,154 R 2) 3.35/0, 1.524 3)1.39R 1.32 0 4) 1.2/9, 1.34/

Variation of equivalent conductanc=with concentration is more in which of the following
Bergol FFTESD MEES® FNSYd 8o JJe* 3O %o ®hHE DYoo KSoJod
Su5qyeo

1) KC 2) CH,COOH 3) NaC 4) NiSQ,

Molten Cud, is electrolysed using platinum electrodes. The reaction occuring at anode is
T8I0 JoEsodH #3S8rnod Aol CUCl, S deogs DFdwo BOSHE, us's 5¢ =200
DL

1)20- — Cl(g=)+2e 2)C,(g=) +2e — 20~
3)C*+2e —> Cu(s) 4) Cu(s) —» CU¥+2e
Molal depression constant for water is 1.86. The freezing point of 0.05 molal solution of a

nonelectrolyte in water is

8 B, IrerS IBYB Roroko 1.86. ©ond 0.05 Irors ogsS ©IFAgE SargSnd
A8e® adHHdo o Edmo FoNySS ePe

1) -0.98C 2) 0.98C 3) —0.098C 4) 0.098C

A body centered cubic solid is made up of two elements A and B. Atoms of ‘A" occupy two
corners of the cube. If the remaining positions in the cell are occupied by the atoms of 'B’,
then the formula of compound is

o€ ®od:BoBd Sosvorgo A, B $ob08 Sorosrod® d6)808. A HESranden Fodoes® 2
SoroodH eEdoFon. DAdS FTrwn B IdSrmoPes® 2088 eidnESo Fdyor

1) AB, 2)AB 3) AB 4)AB
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According to Le chatelier's principle, the favourable conditions for the industrial synthesis

of SO; are

O &0 o srdo SO; FBEE JoFdmd (@&)rodd

1) Low temperature, High pressure vy sPRS, 08 w80
2) High temperature, Low pressure WHE SPRS, vy w80
3) Low temperature, Low pressure vy BPRS, voy DESo
4) High temperature, high pressure WHE SPRS, 0¥ V&S0

Physical adsorption can be represented by the graph
F8E dFiwodH oW (™D

x/m /\ x/m k X/mf x/m j
1) 2) 3) ‘ 4) ‘
t t t

t

The heat evolved when 10 g of GHs burnt in excess Q is 558.6 K.J. Then the heat of
combustion of CH, is

10 prdwe CH, & ©§f v8jnsSes* 5o BododSyd 558.6 K.J. #3¥§ ddodeond,
CH, &85 6" o dod ?

1) —893.76 KJ 2) 893.76 KJ 3) —223.44 KJ 4) +223.44 KJ

In Nalgonda method fluroide ions get precipitated a&
S04 H§8s° FDE oddrden Bod HargSnm e58do Bodod

1) Calcium fluoride T30 P&

2) Aluminium fluoride LorgAoo F3&

3) Calcium aluminium fluoride 590500 BOrgIGHO FI&
4) Calcium silico fluoride oo DOF Fo&

The correct order of M — H barid energy values in the hydrides of VA group elements is

VA @) Soreste @&oes® M — H aod ¥ dende 3860 Eo

I)N-H>P-H>Sb-H>As-H 2) N-H>P-H>As-H>Sb-H

3y Sb-H> As—-H>P-H>N-H AHYN-H>Sb-H>As-H>P-H

In the manufacture of conc.sulphuric acid by contact process, there catalytical poison is
T Sorg)dl uRIn KoY ITSo TYo FArs FHLS® SB)EE I8 oo

1) AS,0,4 2) H,S 3) Glycerolaso S 4) Mo

The hybridiration of chlorine in its compounds GF;, CIO,

CIF;, CIO; o&*® 888 H65raPes® o So88E6nsn §dh asnotnod

1) sp, sp’ 2) spd, sp? 3) spd?, sp’ 4) spd, sp?

Both ethylene and acetylene can be seperately prepared in only one step from

ot ©0BS* YOS 508050 VOIS BoBod ISIsm B So0d SaSrs TasnEadd ?

1) 1, 1 —dibromoethane 1,1- 3 @3 B

2) 1, 2—dibromoethane 1,2 -3 @3 B
3)1,1, 2, 2-tetrachloroethane 1,1,2,2 - BEr 86 &3S
4) Ethane — 1, 2 —diol &30 —1,238 55
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157. Inthe following reaction A and B are respectively

158.

159.

160.

Bod S8ges® A SoBosw B oo 385

A gHBY . cHCl DB A
1) C,H, and alcoholic KOHA
2) GH5Cl and aq.KOH A

3) GH;OH and aq.KOH A

C,H, 800050 we) 598 KOH /A
C,H:Cl %8050 KOH 2o @deo / A
C,H;OH $58050 KOH zo@eseoo / A
C,H, 508050 PA,

B) Secondary amines g0 dRoSen

3) A, Conly 4) A, B only

List— B
Method of removal of impurities

4) GH, and PG,
Which of the following organic compounds show metamerism ?
Bod T8e® 9 Do JFyETren JodrSodmoN WrdAOD ?
A) Ethers S350
C) Carboxylicacids 507898 essgren
1) Aonly 2)A,B&C
Match the following 1808 o7¢Q 28XEwWoS®0
List— A
Impurities
SodIT @0

A) Wolframite impurity in Tinstone
8IYSS® fo S'SPHPE

B) Lead impurity in silver metal
degd &*Froe® o 8& HoOS0

C) Cu,O impurity in Cu metal
558 &*5roe® Ko Cu,0 S0dS0

D) Impurities in Zn, Cd and Hg metais
Zn, Cd, Hg o&® o Sden

The correct answer is 38 ¢

A B C D
1) a b c d
3) ¢ a d b

SO0 Sohod 3¢

a) Cupellation
SorB DA
b) Distiitation
Riado
>) Zlzctromagnetic separation
DogBsod 08 H¢8
d) Poling
F*O0h

2) d ¢ b a
4) ¢ d a b

At+B ) Bcan be identified with the help of

20508 5880
3“@5 5880

2) Baeyers reagent
4) Nessler's reagent

Hydrolysis
AN BOIFID
808 T°¢® B BODrnod B MogousSusaydo
1) Tollen's reagent L8R 2880
3) Schiffs reagent asso
>
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Key-Sheet

BOTANY
13 2.2 3.2 4.3 5.4 6.4 T2 8.2 0.2 10.3
11.2 12.3 13.1 14. 4 15.3 16.2 17.2 18. 4 19.1 20.12
21.1 22.3 232 24.3 5.3 26. 4 27.2 28.3 29.3 30. 2
3.1 32.4 33.3 4.4 35.1 36.3 37. 4 38. 1 39.3 40.1
Z001L.0OGY
41. 4 42.12 43. 4 44. 3 45.1 46. 3 47.1 48. 3 49.1 50.3
51. 4 52.2 53.3 54.2 55.2 56. 4 5Tl 58. 4 50.1 60. 1
61.3 62.1 63. 4 64. 3 65. 3 66. 2 67.1 68. 2 69. 3 70. 3
71. 4 72. 4 73.2 74.1 75. 4 76. 2 T7-3 78. 4 79.3 80. 1
PHYSICS
81. 4 82.1 83.2 84.2 B5¢> 86. 3 87.4 88. 3 89.1 90. 2
01.2 92.3 93.12 94.1 951 96. 2 97.3 98.1 99.2 100. 1
101. 3 102. 3 103.1 104. 3 105. 1 106. 4 107. 2 108. 4 109. 4 110. 4
1.3 112. 2 113.1 114. 1 115. 3 116. 4 117.2 118. 4 119. 3 120. 4
CHEMISTRY
121. 4 122. 2 123. 3 124.1 125.2 126.1 127. 2 128. 2 129. 4 130. 4
131. 1 132. 4 133. 4 134.2 135. 4 136. 2 137.2 138. 1 139. 3 140.1
141.1 142. 4 143. 3 144. 1 145. 2 146. 1 147. 3 148. 1 149.1 150. 2

151.1 152. 3 153.1 154.1 155. 2 156. 2 157. 1 158. 4 159. 3 160. 4

h
h



